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Q.1

Q.2

Q.3

Q.5

Q.6

ExTC

Q.P. Code :17001

[Time: Three Hours]

Please check whether you have got the right question paper.

NB: 1. Q.1ls compulsory
2. Salve any three guestions out of remaining.
3. Assume suitable data if necessary stating it clearly

a} What is OMAP in network management?
b} Whatis MIB?

¢} Compare between SMMPv1 and SNMPv3?
d) Describe Code Book Reasonirg based event correlation technique?

TN M /Lgiﬁﬁ/ Sesrr 'I.{-T__IT /""{.A-Tnlﬂf'}

E'rﬂ’ffr 7

[ Marks:80]

05

05
05

a) You are administering the 24000 workstations in an organization. You are pinging each station 10
periodically, The message size in both directions is 128 bytes long. The NMS you are using is
on a 10-Mbps LAN, which functions with 30% efficiency, What would be the frequency of your

ping if you were not to exceed 5% overhead?

b) List and describe SNMP various commands with command syntax.

a) With respect to IS0/0SI network management: Describe following terms:

i, Scoping and Flltering
ii. Linked Replies
jil.  GCWO
hw.  ACSE and ROSE

b] Draw a neat diagram of TMN functional architecture with interfaces
a) List and describe RMON2 MIB Groups and thelr functions.

b) What is SNMP proxy server?

a)  What is ASN.17 Explain in detail.

b} Draw and describe SNMP message and PDU formats.,

a) Explain the significance of Trap. Describe the different types of traps.

b) What is ATM Metwork management?

LR T

10

10

10

10

10

10

10

10

10
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Q.P. Code : 13560

(Time: 03 Hours) Total Marks: 100

Mote:- 1) Question No 15 compulsory

Z) Attempt any four questions fram question No 2 to 7

3} Assume suitable Data Wherever necessary and justify the same

) Draw naat sketches/diagrams wherever Mecessary,

QMo 1. Answer the fallowing (any faur)

{a) State and explain “eplerlan Elements set?

5
{b} What is meant by Statign keeping? How it Is differant from “Attitude Control"? 5
[c) Give dlassification of satellites based on their orbital positions? 3
{d] Briefly explain Polzrization technicuas for satellite signals 5
{&} What are the differences between Thin Route and Thick route FDMA mathod? 5
QLMNo.2. (a) What Are Look angles and how they are determined? 10
{b) Draw block dlagram of Double Conversion Transponders and explain each block? 10

0.MNo.3. (a) Explain 1) VSAT 2) Dps systems

10
() What are various zntenna used in satellite communication and its T, T and C subsystems, 10

QLNo.4. (a) What is space qualification and reliability of satalline tubsystems? in
(b) Compare

i} Power requirements of TDMA and FOMA

i} Geosynchronous and Beostationary earth orhits

10
Q.No.5, (a) Why LNA is kept just behind the satellite receivers? Also disoyes various bosses in
satellite communication system

10
(B} Explain with the help of block diagram block dizgram of transmjt Feceive earth statkon

10

[r.T.0)
i

DFBSHICAFHEDC?DJ]‘HEHHMD?FH*
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OLP. Codp - 13560

Dt: Ne. 6. {a) Derive the overall [C/to]  equation of combined uplink and dowein, o e
the effect of Intermodulatian products on this overall /Mo value. &

1
() Biscuss and draw channel arrangement and explain use of GSC for “SPADE" syerer 10
Quan. 7, Wirite short notas on any two; - RS

(a} Satellite |au nching methads
[b} Telemstry, tracking and command sub EYSTEM

c} Explain TWTA

JJFHEHE'LL*._FE[‘#DET{E-]935?935'21‘;[]?]:'95'1
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T4528 i TI820 SATELLITE COMMUNICATION & NETWORKS

(Time 3 Hours) [Total marks: §0] " TR e

NB: 1) Question number 1 is compulsory
2) Answer any three questions out of remaining questions
3) Answer the questions with suitable disurams
4) Assume suitahle data wherever necessary

I Answer uny Five- : : ] s

{a) Why the 'Tarth sensors” are not used for serising tJJe “'E"uw axis in LrEL'I :
salellites? e,

(b}  Why a multi-beam antenna i usr:u:[msatelhte -:umrrm:runm:r[Lt:-n"J == B

(¢} For the same area of solar array whm::h n:c-lﬂgurah um,; spm stn.blfazau.nn’ nr Sk
hody stabilization, peneate wiore povrer, Justify. - ; L S

(d) Dhifferentiate bctw-BE!n window & t'r:amu urg.ﬁru.zatmn e

(e)  Why LNA in a satellite t:rtmng SYSTEM i3 p]u:,u.i af ﬂ:u: EIIII.‘EtT.EIﬂ. and*-—u:rf‘
the feeder cable? Rk

([} Explain with diagram- whul‘ is Irnhr:-l" m-ﬂ pmumbﬁi”? H-a:uw it is
alfecting satellite npt:ra’rlc:u‘?

2 (a) What arc the c_I:ﬁ‘erent ﬂht—:‘:nha I:rtu:!nt[ng lt:rJ]mq]m& mf,gmﬁmtmnaﬁ- 1]
satcllite?
(b} Discuss in detail ]fcl-;'mr:rrar, tracking and command mth“nr.'eur:.s::.aw Block 10
diggram. - 1
3 (2] What art the tnam c&nsndem’ﬂnm m thl: rlf.srs-_'n -:;I‘ an T:H:Lh station? And 1)
how the sarth: 5tﬂt!mas areclazsifi vnE]'? :
(k) Explm the ngeﬂ ‘of plaq.,mgrLNﬂ m:-‘ﬂ lnﬁumma Calculate over all 14
- N Ratio for satéllits if [EN], qpiml:. Eﬂ-ﬂ:r & [N, downlink = 20db
_ £ur¢rmac[ulanun I"-IIJJSE'. lﬂﬂh s
4 :{m 3 Discuss ]'Je.sj gu 'D_l-ﬂﬂdﬁl’ﬂf:lﬂn t“!i E&Et.ll stuh:m Diraw the block diagram 10
T S Transmmit and TeCsive n:fu'th ;:.tatmn ard explain,
o {'b} [HEID'JRHF'E [*re- assipned . F.D"Uﬂ and [emend assigned FOMA 15
. '-[‘.;}}. ‘Explain mri;-m [fme strigctre: (3
o L0
lain on h::rard eomnectivity with Transparcat procossing,
E;} EFTEI:Z:SS 031 Mn;:i:?lEI for: sa:geﬂ itas Metwork also discuss layvering principle. 055
'EDJ' Why TWT ﬂmphf' Tk Prﬂfenﬁ] for satellite communication? [k
| 20

v Four-

ransmitter and receiver

&  Write short nores 01 all}
DA and TH-CDMA.

' ite T
{z) Optical satsllite
(b)  Comparison of DS-CDMA, FH-C

ey - Launching Mt,chﬂnlsrll
; _-,‘{:dg _ Reliability and space qualification test

{f:} VSAT
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ExT

a.1

Q.3

Q.5

0. B

lap+8-F

L .
'\I[Il ﬁEEV}{ GEM VITT) WIRELESS NETWORK.

¢ [SEM | B
Td-*]]:{{n' TIORY B EJELECT RONICS & TELE COMMN
(.P. Code 109769

[fime: 3 Haurs] [ Marks : 100] .

pleaze check whether you have got the right guestion paper.

1, QuestionNo.1isco mpuisony.
1. Atternpt any four questlons fro
3. hssume sutable data if required.

[R5 o
m remaining.

y 05 -
al Explain varlous state in Bluetooth :
05
h] Explain the term E35 & P55 in |EEE BO2,11 g _
r~ .-05

¢} What is COMA 2000 . ;
d} Discuss the role of 3G system : .

al Differentiate between frequency = hopping & direct sequence spread spectrum Io
b} Explaln forward and Reverse link in COMA — 2000 10
al Explain Zigbee technology and also discuss the /W topology used in Zighee ' 10
bl What is UMTS? List important features 8 UMTS air Interfice. 10
a} Explain power controfin COMA 10
k) Explain in detall various terms wsed in Bluetocthy 10
a) Whatis AFIO? Discuss some of its application 10
b} What s Wi=— MAX Bifferentiate between: Wi - Fi &Wl':— M A 10
2] Wrlte a note on Wireless sensor Matwiork 10
bl With diagram Explaln Link budget 2nalysis for G5M 10
aj Explaln hidden and expased na;#l_a prabliem in WM 10
10

bl -Explaln imede and what s different between WAP & imode.
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ExTC[SEM T [cBSHS|T& Ve /20-5-17

T452E/TI8Z7 BE(ELECTRONICS & TELE COMMMN ENGGNSEM Vi) (CBSGS) INTERNET & VOICE COMMUNICATION

Q. P. Code : 13208

{ 3 Hours ) { Total Marks: 80

N.B. :
(a) Question No.1 is compulsory,
(b) Tatal 4 questions need to be solved,
(e} Attempt any three questions from remain ing five questions,
(d) Assume suitable data wherever necessary, justify the same.

=

La  Explain any one method to improve Gos, BAEN 5]
Lb  In the TCP state transition diagram, why do we have the TIME-WAIT state and [5]

why is its value equal to 2Ms]2

Le  Why SSH is preferred over TELNET? Explain, ' - 15]
ld  Explain the fields thas are related to fragmemtation and reassembly of an [Pyd 5]
datagram,

Za  Discuss how Hypertext Transfer Protocol (HTTP} is used to access data on the [10]
_World Wide Web,

2.b  Explain FTP in detail, Mention its limitation and Justify how these limitations are  [10)
avercome in TFTP,

da  Explain how TCP controls the congestion in the network using different strategies.  [10)
3b  AnlSPis granted a block of addresses starting with 150,80.0.0/16. The ISP wants  [10)
to distribute these blocks to 2600 customers as follows-
* Thefirst group has 200 medium-size businesses; each needs approximately

128 a?idmsmzsu

®  The third group has 2000 households; each neads 4 addresses,
Design the sub blocks and give the slash notatian for each sub block, Find out how
< many addresses are still aviilable after these allocations,

) _-1.n'.. 3 Explain in detail RTP packet format. [10]
4b. Explain the transition states of TCP with a near diagram, [10]

. Sa  Explain how voice is transmitted over packet switched netwark using H.323. [10]
5h Exlpluin various characteristics of real-time audio'video Communication, [10]

[ (a)  Discuss the different types of addresses used in the TCp/p protocal. (5]

(b) The transport layer is responsible for process-lo-process delivery of the I5]

entire message. Justify your answer,
Discuss DHCP operation when the client and server are on the same I5]

(c)
] nefwork or on different netwarks. _
(d}  Discuss the two message access agents in brief

—

15
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